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Part B - Matching Questions (10 marks)
Match the phrases/words given on the Jeft W1th the most relevant phrases given on the rlght.
Put the letter belongs to the selected phrase on the right in the brackets given on the left.

Left Right
1. Independent sample t fest ¢ ) A, Is a Probability sampling
‘method
2. Poisson distribution ' ( ) B. Consists of two or more

stimple events

3. Standard deviation ( ) C. Tsasubset of sample space

4. Cluster sample ( ) D.  Is the square root of variance

5. Mutually exclusive event ( ) E. Isestimated for making
precision

6. Convenience sample ( ) F. Has the mean= variance =\

7. Compound event ( ) G. Use pooled variance

8. Standard error ( ) H. IsaNon-Probability

. sampling method

6. Event ' ( ) T 1. The shape of distribution
depends on. degreeé of
freedom

10. I the t distribution ( ) J.  Isanevent where two events

cannot be happened at same

time
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Part C- Structured Essay Questions (45marks)

Answer all the questions

Question No.01 (25 marks)

The Number of patients visited per day in a diabetic clinic is as follows,

11,9, 20, 11, 32, 25, 25, 9, 20, 25, 11, 32, 25, 20, 25

a) Complete the following frequency table using above data. (05 marks)
N Number of patients per Frequency
! day

b) Compute the mean number of patients per day in the given sample. {06 marks)




G
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¢) Name the measure of dispersion which can be calculated using Q1 and Qs and compute it.

(02 marks)

f) Name the measure of dispersion which can be calculated using the maximum and minimum

values and compute it. (02 marks)
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Question No.02 (20 marks)

The Hemoglobin level of a group of individuals are normally distributed with mean of 12
g/dL and standard deviation of 2 g/dL. According to hemoglobin level, anemia was categorized
into three categories as mild, moderate and sever.

a) Compute the percentage of individuals with the hemoglobin level in between 12 g/dL and
15 g/dL.. (08 marks)

.........................................................................................................
.........................................................................................................
.........................................................................................................

.........................................................................................................

b) Formulate null and alternative hypothesis, if a study is carried out to investigate whether
there is an association between levels of the anemia and gender using a sample from above
study population. (04 marks)

¢) What is /are the statistical test/s that can be used for testing above mentioned hypothesis.

(02 marks)

d) Find the critical value / values related to the above statistical test/s. (Consider o = 0.05}

(06 marks)
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STANDARD NORMAL TABLE (Z)

Entries in the table give the area under the curve
between the mean and =z standard deviations above
the mean. For example, for =z = 1,25 the area under
the curve between the mean (0) and z is 0.3544.
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Percentage Points of the Chi-Square Distribution

Degrees of Probability of a larger value of x

Freedom 459 go5 090 075 050 025 010 005 001
1 (.000 0.004 a.016 a.102 0.455 1.32 271 2.84 6.63
2 0.020 0.103 0.211 0.575 1.388 2.77 461 599 9.71
2 0.115 ¢.352 0.584 1.212 2.366 4.11 6.25 7.81 11.34
4 (.297 Q.711 1.064 1.923 3.357 538 7.78 .49 12.28
5 0.554 1.145 1610 2,675 4.351 5.63 9.24 11.07 15.09
6 0.872 1.635 2.204 3.455 5348 7.84 10.64 12.58 16.81
7 1.239 2.167 2.833 4.255 5.346 9.04 12.02 14.07 18.48
8 1647 2.733 3.490 5.071 7.344 10.22 13.38 15.51 20.09
e 2.088 3.325 4.168 5.899 8.343 11.39 14.68 16.82 21.67
10 2.558 3.940 - 4.865 6.737 5.342 12.55 1599 18.31 23.21
11 3.053 4,575 5.578 7.584 10.341 13.70 17.28 19.68 24.72
12 3.571 5226 5.304 8.438 11,340 14.85 18.55 21.03 2022
13 4,107 5.892 7.042 9.299 12.340 15.98 19.81 22.36 27.69
i4 4.660 £.571 7.750 10.165 13.339 i7.12 21.06 23.68 25,14
15 5229 7.261 8.547 11.037 14.339 18.25 22.21 25.00 30,58
16 5.812 7.562 9.312 11.912 15.338 19.37 23.54 26.30 32.00
17 6408 8.672 10.085 12792 16,338 20.49 24.77 27.59 3341
18 7.015 3.39¢ °  10.865 13.675 17.338 2160 25.99 28,87 34.8C
19 7.633 10117 11.651 14.562 18.338 22,72 27.20 3014 36.19
20 8.260 10.851 12.443 15.452 19.337 23.83 2841 31.41 37.57
22 8.542 12.338 14.041 17240 21.337 26.04 30.81 33.92 40.29
24 10.856 13.848 15.855 19.037 23.337 28.24 33.20 36.42 4298
26 12,398 15.379 17.292 20.843 25.3386 30.43 35.56 38.89 45.64
28 13.565 16.928 18.939 22,657 27.336 32.62 37.92 41.34 48.28
30 14.953 18.453 20.589 24,478 29.336 34.80 40.26 4377 50.8%
40 22.164 26.509 29.051 33.660 39.335 4562 51.80 55.76 63.69
50 27,707 34,764 37.68% 42,942 46335 56.33 63.17 67.50 7615
50 37.485  43.188 46450 57204  59.335 6698 7440  79.08 88.38
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